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Sr Questions Answers Choice

1 The son of Chandraguta-1 was
A. Ashoka
B. Samudragupta
C. Vima Kadphises
D. Kanishka

2 The Kushan Empire collapsed around.
A. 150 CE
B. 250 CE
C. 350 CE
D. 450 CE

3 They linked the sea going trade of the Indian Ocean with the commerece of the silk road, via
the Indus Valley.

A. Mauryan
B. Aryans
C. Vaishyas
D. Kushans

4 Ashoka expanded his empire to regions in.
A. Iran
B. Persia
C. Afghanistan
D. All of these

5 Who established the Mauryan Empire by overthrowing th eNando dynasty.
A. Ashoka
B. Chandragupta
C. Chanakya
D. Kanishka

6 The highest caste in the Aryan caste system was the.
A. Kashatriyas
B. Shudras
C. Brahininis
D. Vaishyas

7 The Khyber pass is a mountains pass in th Hindu Kush Mountain in
A. Sindh
B. Punjab
C. KPK
D. Baluchistan

8 There was the indus valley Civilization before the time of.
A. Aryans
B. Mauryan
C. Kushan
D. Brahinins

9 Which of the following identified themselves as a supeior race.
A. Mauryan
B. Kushan
C. Aryans
D. None of these

10 The term Arya means.
A. Leader
B. Noble
C. Feudal
D. Priest


